Group 6: 
SK Seberang Perak


SK Telok Bakong



SK Telok Perang



SK Changkat Lada 2



SK Lengkuas



SJK (C) Chung Hwa Parit



SJK (T) Ladang Serapuh

Class: Year 5

Topic: Percentage

Learning Area: Percentage

Learning Objective: Relate fractions and decimals to percentage

Learning Outcome: Convert percentage to fraction in its simplest form

CASE 1 : Pupils unable to convert percentage to fractions in its simplest form

   : Pupils forget to convert fractions in its simplest form
CASE EXAMPLES: 50 % = 50/100



       = 5/10 (pupils tend to leave the answer as it is)

First solutions: 
1. A hundred square paper and shade 50 squares
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	 
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


2. Pupils write the coloured fractions: 50/100
3. Pupils draw diagram of the equivalent fraction of its simplest form

	 
	


4. Pupils write the equivalent fraction of its simplest form: 1/2
Second solutions: Concrete
1. There are 100 marbles in red and blue colours in a box.

[image: image1]
2. Pupils separate the marbles according to the colours.


[image: image2]
3. Pupils divide into two groups according to the colours.


[image: image3]
4. The fraction of red marbles are 50/100 from the total. 

Third Solutions: 

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


1. Teacher prepares an egg tray with 100 holes and sweets in 3 different shapes.

2. Teacher puts the sweets randomly in the egg tray.

3. Pupils are asked to rearrange the sweets according to the shape.

4. Pupils will get the answers 

Example

       
        26/100 or 14/100 or 60/100

5. Pupils are asked to write the fraction of each shapes from the total.

Fourth solutions: 

1. Pupils refer to the timetables of 10 to find the equivalent fractions of 50/100

	1
	X
	10
	=
	10

	2
	X
	10
	=
	20

	3
	X
	10
	=
	30

	4
	X
	10
	=
	40

	5
	X
	10
	=
	50

	6
	X
	10
	=
	60

	7
	X
	10
	=
	70

	8
	X
	10
	=
	80

	9
	X
	10
	=
	90

	10
	X
	10
	=
	100


2. Pupils refer to timetables of 5 to find the equivalent 5/10
	1
	X
	5
	=
	5

	2
	X
	5
	=
	10

	3
	X
	5
	=
	15

	4
	X
	5
	=
	20

	5
	X
	5
	=
	25

	6
	X
	5
	=
	30

	7
	X
	5
	=
	35

	8
	X
	5
	=
	40

	9
	X
	5
	=
	45

	10
	X
	5
	=
	50


3. Pupils get ½.

(100 marbles)





Red and blue





Red (50)


Blue (50)


|








Red		        |


        |Blue


|











